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General Instructions :

(i) All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each.

(iii)  Question Nos. 1-5 and 17-21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Question Nos. 6-10 and 22-26 are short-answer questions carrying
3 marks each. Answer to them should not normally exceed 60 words each.

(v) Question Nos. 11-13 and 27-29 are also short-answer questions carrying
4 marks each. Answer to them should not normally exceed 70 words each.

(vi)  Question Nos. 14-16 and 30-32 are long-answer questions carryings,
6 marks each. Answer to them should not normally exceed 100 words ™
each.

(vii)  Questions marked star (*) are value based questions.

(viii) Answer should be brief and to the point and the above word li::t should
be adhered to as far as possible.

Qs A
Section A

aof srefisr & F shmma ? 7

What is perfect oligopoly ?

‘U T & Ufahel T 379 Fqrsy |

Give meaning of ‘returns to a factor.’

FsTe @ <t gt i |

Define budget line.

FERR 310 TR T Ut & SOSRY 9 8 ST € | Sened wraA di % wed |
THeT AT Yo sy |

Unemployment is reduced due to the measures taken by the government. State its
economic value in the context of production possibilities frontier.
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What is meant by cost in economics ?

6. mm(m)mmm(m)%mmmi 3
gty
gaamﬁaﬂwﬁmm%aﬁaéa‘uml

State the relation between marginal revenue and average revenuc.
Or
State the relation between total cost and marginal cost.

& ‘S Foru SeuTen TR ST et e EHERT | 3

Explain the central problem ‘for whom to produce.’

8. @a@ﬁaﬁnﬂwﬁ?ﬁa(ﬂl%laﬁwﬁqﬁrmm@mﬁﬁﬁ%ﬁ-
m@wﬁmg&mﬁﬁmwgﬁﬁmﬂ%mﬂaﬁ?ﬁtﬁhﬁmw ‘
qftehe I | 3
Price elasticity of demand of a good is (—)1. When its price per unit falls by one

rupee, its demand rises from 16 to 18 units. Calculate the price before change.
B

-t ¢ T

9. @mﬁwmﬁﬁﬁmﬁsﬁﬁmm%?ml = 3
Why are the firms said to be interdependent in an oligopoly market ? Explain.

10. @—%Wﬁq@ﬁaﬁ%,aﬁaﬁfﬁﬂmwwww%?i@mﬁ
e ? 3

What is the behaviour of average fixed cost as output is increased ? Why is it so ?

11, ufEd srguEt & e s Wmmmmw|wwﬁw
aaATEe | 4

State the behaviour of marginal product in the law of variable proportions.
Explain the causes of this behaviour.

12. @mﬁwmaa@aﬁmmﬁﬂm%mﬁmﬁ@wﬁm%
waﬁwﬁ@uﬁ(sﬂr@rmt 4
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mmBﬁﬁmﬁﬁﬁ%?ﬁaﬁB#uﬁa@aﬁ%m@ﬁmﬁwaﬁm%
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58/1/2 3 [P.T.O.



13,

14.

Note :

15.

58/1/2

A consumer consumes only two goods. Explain consumer’s equilibrium with the
help of utility analysis.

Or
A consumer consumes only two goods A and B and is in equilibrium. Show that
when price of good B falls, demand for B rises. Answer this question with the
help of utility analysis.

geiforg aeqedl il dmat ¥ giEd o swror et awg i wim | B aret afEda
1 STE HIf |

Explain the change in demand of a good on account of change in prices of related
goods.

U ] T SR Hged 3 ® | g% HI A H w8 St @ ) a9 % Qe
aqa | A dh 38 UG o HIU S JTe T9TE Shi JEen GHSET | s
T I iU |

Market for a product is in equilibrium. Demand for the product “‘decreases.”

Explain the chain of effects of this change till the market again reaches
equilibrium. Use diagram.

frrfafad w7 Faa giedm aftenfdat & fou g 14 F M w2 |

Teh 9% T IS Tgad | 8 | 9% il i w7 8 S ® | S e
T H 3T qeh 39 UNEdH o SR 8 aTe ST o FEe GRS | 9ee 31
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The following question is for the Blind Candidates only in lieu of
Q. No. 14.

Market of a commodity is in equilibrium. Demand for the commodity
“decreases.” Explain the chain of effects of this change till the market reaches
equilibrium again. Compare the prices at the old and new equilibrium.

ST o faveryor Y gerdr o U Sge i 910 J9es |
HAGT
ST Tt <l off ferdrand wwmsT |
Explain the conditions of consumer’s equilibrium with the help of the indifference
curve analysis.
_ Or
Explain the three properties of the indifference curves.
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(3%12) (%) (%)
1 7 8
2 14 15
3 21 b
4 28 28
5 35 36 |
From the following information about a firm, find the firms equilibrium output in
terms of marginal cost and marginal revenue. Give reasons. Also find profit at this
output.
Output Total Revenue Total Cost
(units) (Rs.) (Rs.)
1 7 8
2 14 15
3 21 21 S
4 28 28 L
5 35 36 B
@S d
Section B
17. i o g et ) 1
Define marginal propensity to consume.
18. wﬁwﬁ‘m@mm’ﬁmaﬁqﬁm%? 1
What is ‘current account deficit’ in the balance of payments ?
19, = el @ @ A R 1
What are demand deposits ?
20. ol SR T 37 SIS | | 1
Give meaning of full employment. ‘
21, T are S i < | 1

Define government budget.

58/1/2 s [P.T.O.
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E1 & Yed-H9d S I Hecd g9y |
CRE)
a1 fafma %1 arem’ S o Hee duesy |

Explain the significance of ‘store of value’ function of money.
Or
Explain the significance of ‘medium of exchange’ function of money.

A Hqa 91S 1 379 THSST |

Explain the meaning of balance of payments deficit.

AT o AT I oA o fore et ot st =it 2 | saent feeeft fafiea ev w e
T g < U1 8 ST 7

Visits to foreign countries for sightseeing etc. by the people of India is on the rise.
What will be its likely impact on foreign exchange rate and how ?

TRl T (ST g9 St it ST | SoTeTes STedt 96T 1 U 3aTe S |
G FHeAT0T YT T IHTE ST & 7

Define externalities. Give an example of negative externality. What is its impact
on welfare ?

LT T91e o HeH § o1 Ffetfiad Tered =19 € a1 YsiiTd 539 7 ShRul SiaTsy |

(i) L 3ha3T H T B Tl =5 |

(i) IS T WEH e Y |

Is the following revenue expenditure or capital expenditure in the context of
government budget ? Give reason.

(1) Expenditure on collection of taxes.

(i))  Expenditure on purchasing computers.

TR HESeh TGl o I W (01 35 ¢l ot ¢ | T8 fhg enfele qoq #
quIfaT € 7 THesT |

Government raises its expenditure on producing public goods. Which economic
value does it reflect ? Explain.

a1 ATfd sh1 aftarer €S oTR sEe e eS|
HAYAT

5 Sk o1 “3ifo e’ SR T |

Define money supply and explain its components.

Or
Explain the ‘lender of last resort’ function of central bank.

6

&



29.

30.

Note :

58/1/2

UF idferae, S ok uqed | 7, & 9R ¥ e oiteel @ wad (WrEw)
3TN =5 T Uiehad i

Calculate autonomous consumption expenditure from the following data about an
economy which is in equilibrium.

National income = 1200

Marginal propensity to save = 0.20

Investment expenditure = 100

Ty A SR gfd S wErEd ° U A w6 9o auensy | {@ires H SEh
Fifere | 77 +ft Tmese f6 afy sreforazen dqem § 7 & o1 rdferawen § w1 uftad
A2 |

AT
YNNI © T9d I I F & S fore S e =wor sarse | a1 sEn
IS |

Explain national income equilibrium through aggregate demand and aggregate

supply. Use diagram. Also explain the changes that take place in an economy ;

when the economy is not in equilibrium.
: Or

Outline the steps required to be taken in deriving saving curve from the given

consumption curve. Use diagram.

fFrefeiae wo sherer gfed= wtenfeat & fore wo7 997 30 F W W R |

qun A afearer e | s win ofR Ty qfd Y wear @ wfg e @
Wmlwﬁﬁm%aﬁwﬂmwﬁqa?ﬁammﬁw
gfEd eTmd & 7

YT
s S H 1 ST R 7 30T e & 39 W TTH R Thd & 7 GHEsT |
The following question is for the Blind Candidates only in lieu of
Q. No. 30.
Define aggregate demand. Explain national income equilibrium through aggregate
demand and aggregate supply. Also explain the changes that take place in an
economy when the economy is not in equilibrium.

Or

What is saving function ? How it is derived from the consumption function ?
Explain.

\

6

4

7 _ [P.T.O.



31.

32,

58/1/2

ﬁw%f@a@‘mwmmﬁaamm’aﬂt‘ﬁsﬁm’wqﬂwq
Fif

(T %.)
() T = R sy 60
(i) HT QT A 600
(iif) ﬁésﬁﬁﬁaaiﬁﬁm(mq)m 20
(iv) Temoen 200
(v) TR R Eia | 70
(vi) SIS : 300
(vii) mﬁmmmmﬁw%&rﬁam 400
(viif)  TISTeRT gRT ST, ween A 100
(ix)  faesmi =t faer e sy 57 UGIE 50
(x) oy 300

Calculate ‘net national product’ at factor cost and ‘private income’ from the
following :

(Rs. Arab)
(1) National debt interest 60
(11) Wages and salaries 600
(i1i)  Net current transfers to abroad 20
(iv)  Rent 200
(v) Transfer payments by government 70
(vi)  Interest 300
(vii))  Net domestic product at factor cost accruing to government 400
(viii)  Social security contributions by employers 100
(ix)  Net factor income paid to abroad 50
(x) Profits 300

FV AT U W%mﬁammaﬁmwmmm
ﬁ%%mwwmw&g?

(i) mﬁmﬁ%ﬁmﬁtﬁwﬁa’mﬁf

(ii) %ﬁﬁqmmmm@wﬁammwmwwl

domestic product at market price ?

(1) Fees to a mechanic paid by a firm.

(11) Interest paid by an individual on a car loan taken from a bank.
(i)  Expenditure on purchasing a car for use by a firm.
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